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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN PHQJDQDOLVLV� IDNWRU�IDNWRU� \DQJ� GDSDW�
PHPSHQJDUXKL�NHWHSDWDQ�ZDNWX�SHODSRUDQ�NHXDQJDQ��3DGD�SHQHOLWLDQ�LQL�YDULDEHO�
LQGHSHQGHQQ\D�DGDODK�SURILWDELOLWDV��OHYHUDJH��XNXUDQ�SHUXVDKDDQ��NXDOLWDV�DXGLWRU�
GDQ� RSLQL� DXGLW�� 3HQJXPSXODQ� GDWD�PHQJJXQDNDQ� GDWD� VHNXQGHU� EHUXSD� ODSRUDQ�
NHXDQJDQ� \DQJ�PHQFDNXS� UHWXUQ� RQ� DVVHWV� �52$��� GHEW� WR� HTXLW\� UDWLR� �'(5���
QLODL� WRWDO� DVVHW�� .$3� \DQJ� PHQJDXGLW� SHUXVDKDDQ� GDQ� 2SLQL� DXGLW� SHUXVDKDDQ�
SDGD�SHUXVDKDDQ�VHFWRU�EDUDQJ�NRQVXPVL�\DQJ� WHUGDIWDU�GL�%XUVD�(IHN� ,QGRQHVLD�
�%(,�� SDGD� WDKXQ� ����������� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� DQDOLVLV� VWDWLVWLF�
GHVNULSWLI� GDQ� XML� UHJUHVL� ORJLVWLF�� +DVLO� GDUL� SHQHOLWLDQ� LQL� PHQXQMXNDQ� EDKZD�
KDQ\D� XNXUDQ� SHUXVDKDDQ� \DQJ� PHPSHQJDUXKL� NHWHSDWDQ� ZDNWX� SHODSRUDQ�
NHXDQJDQ�� 9DULDEHO� SURILWDELOLWDV�� OHYHUDJH�� XNXUDQ� SHUXVDKDDQ�� NXDOLWDV� DXGLWRU�
GDQ�RSLQL�DXGLW�GDSDW�PHQMHODVNDQ�YDULDEHO�NHWHSDWDQ�ZDNWX�SHODSRUDQ�NHXDQJDQ�


